EH— EHi— | EH= | EEW | EfA | BEEE | BEROE | £&X
E—R -1 -1 2 -1 -0.20 -0.20 15
wE— ] 7 1 0.40 -040[ 16
8 — 2 2 0.80 080 6
BR— | -2 ) 2 3 -1.80 180 27
=1 | 1 1 1 1 0.80 080 6
BH— 2 k) 1 0.20 020 12
B e — | -1 1 1 -1 14
ER— | -1 -1 0.40 040 16
hREE— 1 2 2 2 2 1.80 1.80 2
pe— | -l -1 2 il ) -1.40 140 23
Z 2 3 1.00 1.00] 4
B | 1 1 1 0.60 060 10
ge_ | |1 -1 2 1 1 0.80 080 6
=8 | 1 1 -2 1 -1 0.40 040, 16
BE_ -1 | -3 -1 -2 -1.20 -1.20 22
Eh 1 1 0.40 040 11
B | -1 1 ) -2 1 0.60 060 20
BB _ | 4 2 1 2 2.00 2.00 1
WREE— 2 2 .3 1.75 99.00 29
R 99.00 29
=8 | 2 2 3 1.40 140 3
ga&= | 22 -1 . -1 2 -1.60 -1.60] 24
ge= | 2 2 3 2 -1.60 160 24
TE= | 1 4 1 1 0.20 020 12
BE= | -1 <] 4 1 0.40 040 16
= | -1 1 3 b -0.80 080 21
fREE= 1 1 0.67 067 9
== 2 -1 1 3 1.00 1.00 4
me= | -] 2 -2 -1 2 -1.60 160 24
FERE= | -2 2 E; 2 -1.80 -1.80] 27
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